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23. [LA carl [Tense e] Lnot be herell

Case and Expletives 24. [[A carl [Tense willl [not be herell
. Howard Lasnik )
M University of Connecticut 2%5. *A car will be not here

Z26. *A car will be usually here

i
f Part 1
; 1. #It seems L[John to be herel 27. Will a car be here
2. #Who does it seem [t to be herel 28. #Will be a car here
: 3a. The man L[(wha) [it seems [t is herelll 29, 1 believe [there fto be a mechanic herel

b, *The man [(whao) L[it seems [t to be herelll

Z0. #1 believe [there to be usually a mechanic herel

4a. #I tried [John to be herel

b. I tried CFRO to be herel . %I believe [thetre to be not a mechanic herel
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S. *1t seems Lthere to be a man herel N I believe [there not to be a mechanic herel
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4., *I tried Lthere to be a man herel Z. #I believe CJohn to be nat herel
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7. A CHAIN is Case—marked if it contains exactly one I believe [John not to be herel
Case-matked paosition; a position in a Case—marked CHAIN is

visible for theta-marking. K of L p.135

=

G. TThere usually arrives a bus (at this time)

usl

Thered is a mand here I&. *There arrives usually a bus (at this time)
9. There is usually a man here Z7. *There arrived not a bus L?There did not arrive a busl
10. A car is usually here 38. #A bus arrived not £A bus did not arrivel
11. *I heard usually a car (cf. I usually heard a car) 9. *Arrived a bus LDid a bus arrivel
12. Someone is likely 'Lt to be herel 40. ‘Unaccusatives’ and be are Case assigners.
13. There is likely [t to be someone herel 41. When INFL is finite, an auxiliary verb (but not a main
verb) may raise to it. When INFL is non—finite, neither an
Part II - auxiliary verb nor a main verb may raise to it.

14, #There is likely L[someone to be herel
4Za. Do not hit Bill

15. #We cansider L[there a man in the rooml K of L p.?2 b. #Hit not Bill
"14. We consider [there to be a man in the rooml 4%a. Do not be stubborn
b. #*Be not stubborn
17. We consider [there. likely [t; to be a man in the roomll c. *Harry does not be stubborn

d. Harry is not stubborn

i8. A car is not here

44, A verb with a complement assigns Case if and only if it g-
19. #*I heard not a car marks its subject. K of L p.138 LA version of ‘'Burzia’s

generalizationl

20. Is a car here

4%, There is L[a car herel
21. #Heard I a car

46. There arrived a man
22, [LA carl [Tense be,l [usuall¥ t1 herel
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Fart III

47.

48. Who do you believe sincerely [t to be the best candidatel
49, %I believe sincerely [John to be the best candidatel
SD. John, I like him
S51. I consider Harry a wiseguy (cf. ex. 13)
52. At LF, all expletives must have been replaced, in conformity
with ‘Full Interpretation’.
53. ‘Visibility’' constrains theta-assignment at both S-structure
and LF (roughly in line with the Projection Frinciple).
34, A man’'s arrival
535. #There’'s arrival of a man -
S&4. #Its likelihood that John will win
57. #0ur belief of John to be intelligent
58. *0ur proof of John to pe intelligent
59. If alpha is an inherent Case-marker, then alpha Case-marks
NP if and only if L[alphal theta—marks the chain headed by
NF. kK of L p.1%94
60. *There arrival of a man
61, The arrival of a man
62. To be visible as the target of NF movement, a pasitian must
have Case.
&3, *Someone éeems Lthere to Eé [t in thg trooml
64, *Bomeone seems Lthere to have been arrested ¢1
65, Someone is certain [t to be here
46, There is certain [t to be éomeone herel
67. *There is certain [there td be someone herel ,£;f7L¢7
Part IV - .
&8, &b. #  Someone is certain to be here iﬁkﬁz;’ﬁfpa
&9. John is certain to be here )
70, *There is certain to bé John hete
71. *There is John he#e

‘Traditional’ Case filter: A% S-strﬂ:ture, *NP that is

lexical dnd lacks Case.
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*Thare arrived a man
LFs A man arrived t
Nominative ~Case

Fartitive
John is t here
John arrived ©
Is Case assignment optional?

H*NF-§ cf. 7.
+Case

*John, is believed [ty is intelligent]
#Marys is believed [Harry to like t.1
*Marys is believed [that Harry likes t.1
*Mary, is believed [that shes likes t41
It strikes John that Mary is clever
Mary strikes John as clever
*John stikes t that Mary is clever
There is a man here
*¥There are a man here
etc.
Theres is a many: here

Does LF movement eliminate a Condition C violation?

*He, respects everyone that Johni: knows
CEveryone that John: knowsls hes respects tz

There, is a manz here
There is a man: here

*There is believed [t is a many herel
LF: A man: is believed [t. is ti herel

*Thete was a problem without *(there) being a solution

S 1 .

Jahn is easy to talk to without being fun to talk to

#*It is easy to talk to John without being fun to talk to him
Why is there no euxpletive FRO?

Conjecture: Every NF position must be licensed.
is via Case fot an overt NF,

Licensing
and via Control for FRO.

Why are there no verbs other than bhe that are ‘exceptional’
Case markers but assign no 8-role to a subject?
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